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Kel

Precalc 4.4C: Trig functions of any angle

Obj: To evaluate trig functions of any angle
Hwk: 4.4C - draw reference triangle or each;
VC on SEPARATE sheet of paper

41-44 Test
Radian Project due
‘Do Now:

1. Find the sine, cosine and tangent for 6 = %

2. The point (9,-40) is on the terminal side of angle 6.

Determine the 6 trig functions of 6. (D* +-40)* =
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Recap:
Reference angle: the POSITIVE acute angle 6’ formed by the
terminal side of 6 and the x-axis.
i.e. PART OF THE BOWTIE!!

Reference A Reteronce
Angle A Angle

2nd Ouadramt 1st Quadram

A/}\ ;
Plv‘rl"ll-rM J“'-'l-lrln-
Ansle Angle

3rd Ouadram 4th Quadram

To find the reference angle 6', determine how "far"
you need to go to get to the closest x-axis
*REFERENCE ANGLE IS ALWAYS POSITIVE!!
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Example 1:

Sketch and find the reference angle for:

q0°
A
a 8=213°
8'= 23°- 130° 1202 - o 31'3;‘0
0'= 33° <
Va,]bo
b. 6=17 ‘"72.=M.5708
0'= T-17 -
G'-—' ht’ 7T'-‘3.W’6 0
v
e. 6= i 1
v
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Example 2:

Evaluate the sine, cosine, and tangent functions for:

;,1;1
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a 0=""—

) 4
;"_lsme r
X cosB= p/y
r
:}m 6=-§-

b) 6=-240°

f_ sin© = ?

Ly

X cosO=|-

"I.'-.
Y tan6= 3
X =

—
=
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What is the reference angle?

What is the reference angle?

‘]76’




Example 3:
Evaluate the sine, cosine, and tangent functions for:

a) 60=-n What is the reference angle? % none, use unit eircke

T

X cos 0 =|-1 s /\ g
(4 Ve

.-;5< tan©= 2=/ 0 465

y sinB= o

v

b) 0= L What is the reference angle? « none, use point
2 T on unp
CirCle
Yy sin6=| I &)
X cos©=|0 1 o

2 tan 0= &=[undet

saving journal files Page 6



A
Example 4. ;P' d

Find 2 solutions for the given equation where
0<0<2m (inradians)and 0°<8<360° (in degrees)

Y Pos
X :\/E-E': 2 =
£ a cos 6 - m )

¥ unrationalize
Quadrant T ¢ (0= 45°= I
Quadfant TL. O6= 3(0°-45° = [315°= ;g

M —]

0'=45°

1 ! & @ 1p0-4s°
A néy y " |97 13s°
T|e =i

8§07 ©'= 45°
‘ﬁ O = /80°+45°
v o= 225°

=8
&
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